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EHIAE GEIED BIER E24F9H10H (AER) Z=F
. s 1cm #h_E = &50cm #h £ & & 100cm
BEag | mEem| g o Ec . eEs
BAEE | AEHER | BEE | AEHEER | AEE @ BEHER
11 1F  (BRED 9:35 uSv/hl 0.08 0.08 0.10 0.12 0.12
2 2F 18:10 |uSv/hl 0.11 0. 11 0.14 0.14 0.14
Ti% 1 5hEDER - HRBYRE., TRk BER FR2459F10H(AER) =
ESE 1cm #h_E = &50cm = X 100cm
BEM AL | BER | B o e s
BIEE | AEHER | AEE | RAEHER | AEE | AIEER
11 1F  (FBRD) 14:50 |uSv/H 0.09 0.09 0. 11 0. 11 0.12 0.12
2 2F 15:00 [uSv/hl 0.12 0.12 0.13 0.13 0.15 0.15
TE18TH% BIER EK24%59811H(KER) Z=FA
. HhESE lom #h_E = &50cm i#h £ 7= & 100cm
BEas | mEew | B [ o} me  f TeEe
BEE | AEHER | BEE | AEHER | AxEE | BEHER
11 1F  (BRED 14:37 |(uSv/hl 0.09 0.09 0. 11 0.11 0.14 0.14
2 2F 14:48 |uSv/H 0.12 0.12 0.13 0.13 0.14 0.14
T2 BiRER%E BIER FERK24%59812H0CKER) =
hESE 1cm #h_E = &50cm H#h_E= &100cm
BEas | mEem | s o Ec o Es
BEE | AEHER | BEE | BEHEER | AEE @ BEHER
11 1F (BRED 15:50 |[uSv/H 0.09 0.09 0.10 0.10 0.12 0.12
2 2F 15:53 |uSv/H 0.12 0.12 0.12 0.12 0.13 0.13
Tk2#THk HAER EH24%E981 60 (AER)
#hEEE 1om Hh_E = &50cm #h_E= &100cm
AEihas | A | sy [ P bt e
BAEE | AEHER | BEE | AEHEER | AxEE | BEHER
11 1F (B 10:30 [uSv/hl 0.09 0.09 0.09 0.09 0.10 0.10
2 2F 10:40 |uSv/H 0.12 0.12 0.13 0.13 0.12 0.12




